
SM3 4.2 Log Evaluations 
 
Evaluate the following expressions: 
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Rewrite each exponential in logarithmic form. 
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Rewrite each logarithm in exponential form. 
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= −2 30 log%! 225 = 2 31. log%% 𝑦 = 𝑥  32. log& 1 = 0 
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Complete the tables of values of a function: 
33) 𝑓(𝑥) = log$ 𝑥  34) 𝑔(𝑥) = log# 𝑥 
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35) 𝑝(𝑥) = log! 𝑥  36) 𝑞(𝑥) = log 𝑥 
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37) Complete the tables then graph both functions on the same coordinate axis by plotting 
points and connecting with a curve. 

𝑣(𝑥) = 2, 𝑤(𝑥) = log# 𝑥  
𝑥 𝑣(𝑥) 𝑥 𝑤(𝑥) 
1 2 2 1 
2 4 4 2 
3 8 8 3 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

     

  

𝑣(𝑥) = 𝑒, 𝑤(𝑥) = 𝑙𝑛 𝑥 
𝑥 𝑣(𝑥) 𝑥 𝑤(𝑥) 
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